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Problem quickname: 7408

1)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction.

220416 _ ol6 _ o4 28 _ 3-69+28 _ 235
a)z =50 =25 =25 b) 356 = T = o
1 _ 3-49+2 2 77 _ 32445 5
c) 19 — =32 Q= =35
49 D) 24 24
2 _ 376462 _ 290 __ 145 156 _ 2-67422 22
76 76 38 67 67 67
) 37 _ 334428 _ 130 _ 65 h) 929 _ 243+29 _ 115
&) 934 —4 434 =31 — 17 ) 13— ~ 43 T~ 43
51 TA+51 347 420 _ 491456 _ 56 8
i) 47 74 T T4 J) o1 o =491 =433
2)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction.

104 _ 3-29417 _ 23 _ 2:60+23 _ 143 15 _ 329415 _ 102
a) 29 =29 3 b) 255 = 60— = c) 3 — 20 — 29
a) 316 _ 3:20+416 _ m _ 19 ) 421 _ 423421 _ 113
20— 20 20 5 =23 T 323
13 _ 4-20+13 _ 93 38 _ 5-55+38 _ 313
iz =""=19 ) 05y = g = 55
20 _ 4-65+20 _ 280 _ 56 N 36 12749 19 _ 41
h) 455 = = =% — 13 i) 97 = 57 =1z =13
) old _ 221+14 _ 56 _ 8
=721 T 321~ 3
3)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction. Reduce the result to lowest terms.

DE-HE-oF  yaf-smn_lg_g
g5l =stm By g = v gy

8 _ 13848 _ 46 _ @ 16 _ 427416 _ 124
e)lgg =35 =3~ 19 f)de = 577 =3
4)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction. Reduce the result to lowest terms.

a) 49 _ 130419 _ 19 b) 447 — 434417 _ 153 _ 9
30 30 - =30 34_ 34 — 34 T 2

35 _ 2:43+35 _ 121 3 16+4 _ 52 _ 13 4 24144 _ 86
)23 =" =1 d) 375 6 — 16— 4 )24y =g =11
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f) 117 _ 135417 __ 52

12 414+12 _ 68 _
h)414_ 14 14

- 122 3-31429 _ 929
) Y = 29 — 38

31 & 31

Good Luck!
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